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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, NOVEMBER 2015.
I YEAR — II SEMESTER
Major Paper III — ADVANCED FINANCIAL ACCOUNTING
Time : 3 hours	    			Max. Marks: 75
SECTION A — (10 ×2 = 20 marks)
Answer any TEN questions.
1. What is hire purchase system?
2. Differentiate between fixed and fluctuating capital.
3. What are the various methods of calculating goodwill?
4. What is meant by direct and indirect expenses in departmental accounts?
5. What do you mean by Branch Adjustment Account?
6. The Balaji Shoe Company opened a branch at Chennai in 2014. From the following particulars prepare Chennai Branch A/c for the year 2014.
	
	      `

	Goods sent to branch
	15,000

	Cash sent to branch for expenses
	6,000

	Cash received from the branch
	24,000

	Stock on 31/12/2014
	2,300

	Petty Cash in hand
	40


7. Apportion the following expenses on the basis of cost of goods sold ratio among the four departments, A, B, C & D:
	Sales (`.) :
	A : 2,00,000
	B : 1,50,000
	C : 1,00,000
	D : 50,000

	G.P. Ratio :
	20% on sales
	
	
	

	Expenses :
	Salaries ` 6,000
	Rent & Rates : `1,500
	Insurance ` : 1,300


8. There are two departments in a firm A and B
Goods are transferred from Dept. A to Dept. B at usual selling price. You are required to compute stock reserve on stocks of Dept. B from the following Data:
	G.P. Ratio of Dept. A
	:
	25% on Cost

	Opening stock of Dept. B	
	:
	`50,000

	Closing stock of Dept. B
	:
	`75,000


9. Mr. Vignesh purchased a machine on hire purchase system `3,000 being paid on delivery and the balance in five installments of `6,000 each, payable annually on 31st December. The cash price of the machine was ` 30,000. Calculate the amount of interest for first two year.
10. X and Y are partners in a business sharing profits in the ratio of 5:3. They decide to admit Z into the firm giving him 1/6th Share. Calculate the new profit sharing ratio and sacrificing ratio of the partners.
11. A and B are partners in a firm with capital of `36,000 and `32,000 respectively. They decide to admit G into the firm with a capital of `20,000. G is given 1/5th share in the future profits and losses. Give Journal entry for goodwill. 
12. X, Y and Z are three partners sharing profits in the ratio of 4 : 3 : 2, X retires. Assuming Y and Z will share profits in future in the ratio of 5 : 3, determine the gaining ratio.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions
13. Distinguish between Branch Accounts and Departmental Accounts.
14.  (
[P.T.O.]
)Explain the principles governing the allocation of Common expenses in departmental accounts.
15. Sudhiksha of Goa has a branch at Chennai. Goods are invoiced at cost plus 25%. Branch sells goods both for cash and credit. Branch expenses are paid by H.O. Branch remits all cash received to the H.O. Bank account. From the following information relating to the year 2014, prepare accounts in H.O. ledger and find out branch profit or loss:
	
	`
	
	`

	Goods sent by H.O. at invoice price
	1,20,000
	Discount allowed to debtors
	1,200

	Returns to H.O. at invoice price
	2,400
	Bad debts
	800

	Stock at Chennai branch on 
	
	Sales returns
	1,600

	      1.1.2014 at invoice price
	12,000
	Cheques sent to branch 
for Rent, rates and taxes
	

	Sales
	
	
	3,600

	     Cash
	40,000
	Salaries and wages
	12,000

	     Credit
	72,000
	Office expenses
	1,200

	Sundry debtors at branch 1st Jan. 2014
	14,400
	Stock at branch on 31st Dec. 2014 at invoice price
	24,000


16. From the data, prepare Departmental Trading and Profit and Loss Account and thereafter the combined Income Account revealing the concern’s true result for the year ended 31st March 2014.
	
	Departments

	
	A
`
	B
`

	Stock (April 2013)
	  40,000
	         -

	Purchase from outside
	2,00,000
	20,000

	Wages
	10,000
	1,000

	Transfer of goods from Department A
	-
	50,000

	Stock (Mar. 31 2014) at cost to the Department
	30,000
	10,000

	Sales to outsiders
	2,00,000
	71,000


B’s entire stock represents goods from Department A which transfers them at 25% above its cost. Administrative and selling expenses amount to ` 15,000 which are to be allocated between departments A and B in the ratio of 4 : 1 respectively.
17. Thiyaga purchased two trucks on 1st January, 2013 the cash price being `56,000. The purchase is on hire purchase basis, ` 15,000 being paid on the signing of the contract and thereafter, `15,000 being paid annually for 3 years. Interest was charged at 5%. Depreciation was written off at the rate of 20 percent per annum on the reducing installment system. Give the necessary ledger account in the books of Thiyaga.
18. X and Y are partners sharing profits and losses in the ratio of 3 : 2. They admit Z and offer him 1/6 share in future profits. Z acquires 1/24 from X and 1/8 from Y and brings in ` 10,000 as his capital and ` 4,000 as his share of goodwill. Journalise the above transaction and show the new profit-sharing ratios.
19. The Balance Sheet of SNG firm on 31.3.2014 was as under:
	
	                `
	
	          ` 

	A’s Capital
	5,000
	Furniture
	8,000

	B’s Capital
	4,000
	Stock
	2,000

	Z’s Capital
	3,000
	Book Debts
	1,000

	S.Crs.
	2,000
	Cash 
	3,000

	
	14,000
	
	14,000


The firms was dissolved on 31.3.14. The S.Crs were paid at a discount of 5%. A agreed to take over furniture at `. 9,000. B took over the stock ` 1,500 and C the book debts at 
`600. The expenses of realization came to Rs. 110. Show the Realisation a/c.
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions
20. A Company with its Head Office at Calcutta has a Branch at New Delhi. Goods are invoiced to the branch at cost plus 33(1/3)% which is the selling price. The following information is given in respect of the branch for the year ending 31.3.14.
	
	`

	Goods send to branch (Invoice value)
	4,80,000

	Stock at Branch (1.4.13 at invoice value)
	24,000

	Cash sales
	1,80,000

	Returns from customers
	6,000

	Cash paid for branch expenses
	53,500

	Branch Debtors (1.4.13)
	30,000

	Bad Debt
	1,500

	Stock at Branch (31.3.14) at Invoice value
	48,000

	Br. Debtors’ Balance (31.3.14)
	36,500

	Cash received from debtors
	2,70,000

	Discount allowed
	1,000

	Br. Debtors cheques returned dishonored
	5,000


Ascertain the profit made by the branch by preparing the necessary accounts under Stock and Debtors system.
21. A company has a hire purchase department. Goods are sold on hire purchase at cost plus 40%. From the following information prepare Hire Purchase Trading Account in the books of the Company.
	
	
	`

	1.4.2013
	Goods out on hire purchase at hire purchase price
	63,000

	31.03.2014
	Goods sold on hire purchase at hire purchase price
	3,15,000

	
	Cash received
	2,10,000

	
	Goods repossessed (hire purchase installments unpaid `8,400) valued at
	2,400

	
	Goods with hire purchase customers at hire purchase price
	1,36,500


22. The following is the Balance Sheet of X, Y and Z sharing profits and losses in the proportion of  6 : 5 : 3 respectively.
	Liabilities
	`
	Assets
	`

	Creditors
	18,900
	Cash
	1,890

	Bills payable
	6,300
	Debtors
	26,460

	General Reserve
	10,500
	Stock
	29,400

	X’s Capital
	35,400
	Furniture
	7,350

	Y’s Capital
	29,850
	Land and Buildings
	45,150

	Z’s Capital
	14,550
	Goodwill
	5,250

	
	1,15,500
	
	1,15,500


The agreed to take A into partnership and give him 1/8th share on the following terms:
(a) That furniture be depreciated by`920.
(b) That the stock be depreciated by 10%. 
(c) That a provision of `1,320 be made for outstanding repair bills.
(d) That the value of Land and Buildings have appreciated be brought up to ` 59,850.
(e) That the value of goodwill be brought up to `14,070.
(f) That A should bring in `14,700 as his capital. 
(g) That after making above adjustments the capital accounts of old partners be adjusted on the basis of proportion of A’s capital to his share in the business (i.e.) actual cash to be paid off or brought in by the old partners as the case may be.
 (
[P.T.O.]
)Pass journal entries and prepare Revaluation account and Partners capital account and Balance sheet of the new firm.
23. A and B are in equal partnership. Their Balance Sheet stood as follows:
	Liabilities
	`
	Assets
	`

	Capital A
	600
	Plant and Machinery
	1,475

	Sundry Creditors
	3,900
	Furniture
	400

	
	
	Debtors
	500

	
	
	Stock
	625

	
	
	Bank
	300

	
	
	B’s Capital
	1,200

	
	4,500
	
	4,500


The assets were realized as follows:
Stock `350; Furniture `200; Debtors `500; and Plant and Machinery `700. The cost of collecting and distributing the estate amounted to `150.
A’s private estate is not sufficient even to pay his private liabilities, whereas in B’s private estate, there is surplus of `50.
	Prepare Realisation A/c, Cash A/c, Creditors A/c, Capital A/c’s and the Deficiency A/c of all the partners. 
———————
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